03 01 27

G )

5,605 |

5,580

0.44

ha

ha

39%

42%

42%

45%

68%

71%

1 R2=R1

2 R2=R1

0000603966




R02 |R03 [R04 [ROS5 [RO6

A07-001 [ [ [ [ [ 196
A07-002 01.1x 1.2 2.2x 2.2 L=50 [ ] 1

0
A07-003 9.0m3/s [ B BN A B ] 1,166 |1.1
A07-004 2.9x 2.0 L=300 [ B BN A B ] 182
A07-005 | B ] 100
A07-006 01.2x 1.2 1.7x 1.7 [ B BN A B ] 194

890

0000603966




R02 |R03 [R04 [ROS5 [RO6

A07-007 01.2x 1.2 1.5x 0.8 "= (m|m 105
240

A07-008 @ 900 170 " | = 60

A07-009 01.5x 1.0 60 L I B B BN 36

A07-010 00.4x 0.4 O1.5x 0.1 L= "= (m|mm 166
1,360

A07-011 01.0x 1.0 00.7x 0.7 L= "= (m|mm 79
380

A07-012 00.4x 0.4 00.7x 0.7 L= "= (m|mm 137

620

0000603966




R02 |R03 [R04 [ROS5 [RO6

A07-013 LI B 150

A07-014 01.5x 1.5 1.0x 1.8 "= 55
80

A07-015 A=2500m2 LI B 180

A07-016 Q=1.85m3/S ] 0

A07-017 ] 2

A07-018 "= 154

0000603966




R02 |R03 [R04 [ROS5 [RO6

A07-019 "= 66
A07-020 LI B 100
A07-021 02.0x 1.0 L=370m L I B B BN 240
A07-022 1.5x 1.5 L=450m L I B B BN 90
A07-023 LI B 75
A07-024 ] 34

0000603966




R02 |R03 [R04 [ROS5 [RO6

A07-025 400x 700 1400x 1400 L= "= (m|m 183
600

A07-026 ¢ 1100 L=669m [ 1000x 80 "= (m|mm 533
0 L=69m

A07-027 01.0x 0.5 O1.5x 0.8 L= LI B 126
290

A07-028 LI B 43

A07-029 ] 10

A07-030 "= 8

0000603966




R02 |R03 [R04 [ROS5 [RO6

A07-031 LI B 80
A07-032 ¢ 1000 L=80m LI B 90
A07-033 00.9x 0.9 L=60m "= 50
A07-034 2,600*%1,500 L=850m [ I B 200
A07-035 ] 13
A07-036 1,700x 900 L=100m LI B 65

0000603966




R02 |R03 [R04 [ROS5 [RO6

A07-037 00.9x 1.25 250 LI B 59
A07-038 LI B 140
A07-039 LI B 50
A07-040 "= 30
A07-041 0 1800x 1800 L=50m LI B 100
A07-042 A=570ha LI B 40

0000603966




R02 |R03 [R04 [ROS5 [RO6

A07-043 0 900x 900 1500x 1000 L= . 20
1060m

AO7-044 . 20

AO7-045 . 12

A07-046 A=1301ha . 30

A07-047 . 45

A07-048 . 20

0000603966




R02 |R03 [R04 [ROS5 [RO6

A07-049

45

5,580|

5,580|

0000603966




R02 |R03 [R04 [ROS5 [RO6

o7-001 e [=]=]> 5
o7-002 == 0
o7-003 - 10
o7-008 . 10
| L] s |
| 1] ] s |

0000603966




R0O2 RO3 RO4 RO5
@) 441 331 277 415
() 0 0 0 0
(c=a+h) 441 331 277 415
(D 0 341 201 146
) 100 452 332 319
) 341 201 146 242
@ 187 36 78 74
(h = c+d-e-f) 0 19 0 0
(i = (g+h)/(c+d)) 42.4 8.18 16.31 13.19

10

0000603966



